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O v(-5)? @ (-V5)?
@ V52 ® (V5)?
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@ aly + x) © a(x-y)(a-b)
© ala-2b) ® x(a-2b)
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a’(x—y) +2ab(y — x) = a®(x —y) — 2ab(x - y)
= a(x—y)(a - 2b)
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m—-1=A, n—-1=B= X354
(m=1)° = (n - 1)?
=A?-B>=(A+B)(A-B)
=m-14+n-1)(m-1-n+1)
=(m+n-2)(m-n)
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==+ 1) +1)
=(x-1)x+D2+1)(*+1)
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VBT +x =45 & o, FF x 22
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45 = 80
V80 = V57 + x0|B& x = 230]t},
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()? =a%y? =22 - (V3)? =1

xy=1( x>0,y >0)
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—2<x<y<0 2, ta FFE BT A=H?

@) (2-x)? O —-/(x-2)?
® V(2+y)? ® -/(-y)?
@ - (-2)?

O @ © ®© @)0.©

® ©.e

O-2<x<y<0°BEZ2<2-x<4
=>2</2-x2=2-x<4
O-2<x<0°B2 4<x-2<-2
=5 -4<x-2<-2
©-2<y<0°EZ0<y+2<2
=0< \/W:y+2<2
@®-2<y<0°BZ0<-y<20

> 2<=/[DP = () =y< 0

@-2<y<0°ER 4<y-2<-2
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VI750xy = /53 X 2 X Txy = 5+/70xy
oxy =70

(x, y) = (1, 70), (2, 35), (5, 14), (7, 10),
(10, 7), (14, 5), (35, 2), (70, 1)
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12. V143 9 g& a5k, Vb =1.105 € W, a,b 2] 32?2

T 0 1 2 3

1.0 | 1.000 | 1.005 1.010 1.015

1.1 | 1,049 | 1,054 | 1,058 | 1,063

1.2 1 1,095 1,100 1.105 1,109

1.3 | 1,140 1,145 1.149 1.153

1.4 | 1,183 1,187 1,192 1,196

® a=1.000, b=1.13 @ a=1.005 b=1.15
® a=1.049, b =1.42 @a =1.196, b =1.22

® a=1.192, b=1.23

FolA 143 2 20 1,196 ©|B 2 V1.43 = 1.196 ©|1, Al
0] ZFo] 1.105¢] A& o™ 192 o]E2 122 = 1.105
olct, Wt g = 1.196,b = 1.22 0]t




